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 






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


 

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







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
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
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
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
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  E 
 ما عاهدوا مِن المْؤمِنِين رِجالٌ صدقوُا

 نم مهمِنو هبَقضَىَ نح نم مههِ فمَِنلَيع اللَّه
دِيلالوُا تَبدا بمو تَظِرني 

 
     العظيم العليصدق ا  







 











…
…
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














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

































• 
• 
• 
• 


• 
• 




• 
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


 




 













                                         



)( 


 
 



........................................   




















 




 



 







 



                                          

 
 
 
 



 




 



........................................   





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








 




 








                                         


 
 

 



........................................   














• 















                                         
 
 


 
 



........................................   









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



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



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
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



























































• 































                                         












• 














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






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
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…


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
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







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

































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












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 B 
this battle was wonderful behavior that inserted the alarm in the 
romans’s hearts and he was defined the power of Arabic muslim soldier in 
the battle field. And he was raised the morales of his soldiers in spite of 
don’t equall between two armies . and this situation from Jaafar infront 
romans army causing of prevailing the Islamic Arabic army after that in 
the Yarmook battle for setting free al-sham at 13 hijrah. 

The prophet had been sad for Jaafar’s martyrdom. The prophet had 
been death knell Jaafar and his mates. and he said (Jaafar had two wings 
flying in paradise when he want)and that the denotation that Jaafar was 
repaced with two wings in place of his two arms that it was cut in battle 
then the prophet was cooked to Jaafar’s family at his martyrdom and this 
evidence that the prophet’s love to Jaafar and his social place between the 
muslims. 

Thesis contains life of Jaafar Ibin Abi Talib ,his descent, his father 
,his mother,his brothers,his birthday and his Islamic in the first chapter. 

The second chapter contains Jaafar’s emigration and his leadership 
for muslims in Abyssinia ,cause of the emigration ,It’s customizing and 
results 
Third chapter contains the battle of mu’tah at 8 hijrah where Jaafar was 
martyrdom in it as well as this chapter contains cause of battle ,It’s 
operations and results and the prophet’s converses in Jaafar’s vantage , 
Ahl-Albait’s and generous mates catch-words 
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Abstract 
Jaafar Ibin Abi Talib was an important and distinguished characters 

in the Islamic message .He is ibin abi talib , Mecca’s first sheik and Sid , 
prophet’s cousin and Talib’s brother , Aqeel and Ali .He was first Muslim 
and bears burdens of spread Islamic message .He had high morals and he 
was the believer man ,the brave man ,the humble man and the honest man 
.He was sit with poor men and he was feeds them .He was born in Mecca 
before mission and his age was forty years when he was died as a martyr. 
The prophet gave him leadership of Muslims which they emigrated to land 
of Abyssinia to escape from the harmful and annoyance of Quraysh . He 
stayed in Abyssinia and he had been consider the first ambassador for 
Islamic Arabic state there. He stayed in Abyssinia fifteen years and he 
returned to Madinah by warrant from the prophet .He was the cannons 
man that which have a strong argument in front of Quraysh when the 
prophet send him to Negus (king of Abyssinia) for returning  that Muslims 
and his efforta had been succeed because of his ability in logic ,the 
behavior and the great personality. 

In the seventh year of the hijrah, Jaafar and his family left Abyssinia 
with a group of muslims and headed for Madinah. when they arrived the 
prophet was just returning from the successful conquest of Khaybar(a lan 
in Medinah consists of much spoils for muslims). The prophet was so 
overjoyed at meeting Jaafar that he said(I do not know what fills me with 
more happiness, the conquest of khabar or the coming of Jaafar). The 
prophet kept the spoil for Jaafar and his mates. 

Jaafar’s staying in Madinah was not long. At the beginning of the 
eighth year of the Hijrah(670 feb) the prophet mobilized an army to 
confront Romans forces in Syria .He appointed Jaafar Ibn Abi Talib as 
commander of the army and gave the following instructions “if Jaafar is 
wounded or killed, Zayed Ibn Harithah would take over the command ,if 
zayed is killed or wounded .then your commander would be Abdullah Ibn 
Rawahah. The battle occurred in Muotah, it is small village situated among 
hills in Jordan, the Romans had amassed a hundred thousands men 
opposed three thousands men of arab muslim army. 

Jaafar progressed to fight ,he was brave and when he saw that the 
romans army may be prevail .He progressed and restricted his horse 
infront them . Jaafar realized that this battle was his lifetime chance to 
either achieve a glorious victory for allah’s rfligion or win martyrdom in 
the way of allah. This battle was an unprecedented crucial war, therefore 
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